9.104 |

Q,104 A light aircraft with a wing area of 200 ft®and a weight
of 2000 Ib has a lift coefficient of 0.40 and a drag coefficient
of 0.05. Determine the power required to maintain level flight.

For eqw'//'bm'um X=W=2000/ = ¢, $pU 7,

orzaoo /b = (0.40) % (0.00238 :‘%’%‘1) U (200 f1*)
Hence,

U= 454
Also, 2= power = U, where
&=, pr’}? =(0.05) +(0.00238 -S-;%)(/%-ff)l(zpa#’): 250/}

Note: This valve of o8 covld be obtained from
Y. G .z W _ 200088 _
%=g=?‘;=§_§§=8Jarﬁ=9#£‘_’g_L 259/5
Thus,

e
0 = 250l (s ) = 3.43 xfﬂ“fr!é -5—__7%) = 65,9 bg
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